
EXERCICE 1
Exercice 1:
> g:=x+1+ln(x);

 := g + +( )ln x x 1
> plot(g,x=0..2,color=black);
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> plot(g,x=0..0.5,color=black);
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> f:=4*x*ln(x)/(x+1);



 := f 4
x ( )ln x

+x 1
> h:=diff(f,x);

 := h + −4
( )ln x

+x 1
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x ( )ln x

( )+x 1 2

> h:=simplify(h);

 := h 4
+ +( )ln x x 1

( )+x 1 2

> plot(f,x=0..2,color=black);

x

21.81.61.41.210.80.60.40.2

1.8

1.6

1.4

1.2

1

0.8

0.6

0.4

0.2

0

-0.2

-0.4

-0.6

-0.8

-1

EXERCICE 2
a)
> f:=x+exp(3*x-3);

 := f +x e( )−3 x 3

> plot([f],x=-1.5..1.5,color=black);
> 
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Asymptote en - ∞
> plot([f,x],x=-2..2,color=[black,red]);
> 
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b)
> f:=(exp(x)-1)/(exp(x)+1);



 := f
−ex 1

+ex 1
> plot(f,x=-5..5,color=black);
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C’est une fonction de trigonometrie hyperbolique.
> g:=tanh(x/2);
> 

 := g






tanh
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x

> plot(g,x=-5..5,color=black);
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c)
> f:=x+ln(2)+4/(exp(x)+1);

 := f + +x ( )ln 2 4
1

+ex 1

f et ses asymptotes en - ∞et  + ∞
> plot([f,x+ln(2),x+ln(2)+4],x=-10..10,color=[black,blue,red]);
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Recherche d’un point d’inflexion.
> g:=diff(f,x);

 := g −1 4
ex

( )+ex 1
2



> simplify(subs(x=0,g));
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> h:=diff(g,x);

 := h −8
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> simplify(subs(x=0,h));

0
> k:=diff(h,x);

 := k − + −24
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> simplify(subs(x=0,k));
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